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QUESTION NO: 1

Which of the following interfaces is not supported on VSC?
A. APl interface

B. BGP interface

C. Openflow interface

D. XMPP interface

ANSWER: A

Explanation:
Reference: https://www.nuagenetworks.net/wp-content/uploads/2020/06/

Nuage Networks Service Chaining_Technical_Description_Document_EN-compressed.pdf

QUESTION NO: 2

What statement regarding the VRS-G is FALSE?

A. The VRS-G is the software VXLAN/VLAN gateway of the Nuage Networks VCS solution.

B. The VRS-G is deployed on a hypervisor, following the same deployment requirements as a regular VRS.
C. Virtual machines created on the hypervisor are attached to access ports on VRS-G.

D. The network ports on VRS-G point towards the Nuage Networks overlay VXLAN network.

ANSWER: B

Explanation:

This permits the bridging of the hypervisor-focused overlay networking and physical devices in the data center.

Reference: https://jujucharms.com/nuage-vrsg/

QUESTION NO: 3

What statement about statistics rules on Nuage VCS is FALSE?

A. Users can define statistics rules for domain/zones/subnets/vPorts. The rule applied to the most granular object is the one
used.
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B. Statistics are collected in an Elasticsearch statistics engine and are aggregated over hours, days, and months.
C. Statistics are pushed from VRS up to VSC, which in turn sends them to the VSD stats engine.

D. When a TCA threshlod is exceeded, an event is displayed in the Ul and a message is sent on the JMS bus.

ANSWER: A

QUESTION NO: 4

Which of the following is NOT a goal of NFV?
A. Reduce equipment cost

B. Faster time-to-market for new services

C. Efficiency through automation

D. Increase network bandwidth

ANSWER: B

QUESTION NO: 5

What statement about stateful ACL entries is FALSE?

A. They can track both TCP and UDP flows.

B. They can be created in either ingress or egress directions.

C. A packet in the direction of the stateful ACL rules will automatically create a “related” rule in the reverse direction.

D. The automatically created rules will not go away until the ACL is manually deactivated and reactivated.

ANSWER: D

QUESTION NO: 6

What is NOT a service model in cloud computing? (Choose three.)
A. Software as a Service (SaaS)
B. Cloud as a Service (CaaS)

C. Infrastructure as a Service (laaS)
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D. Platform as a Service (PaaS)

ANSWER: ACD

Explanation:

Reference: https://www.openintl.com/the-three-service-models-of-cloud-computing/
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